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© 2x2-5=2(x>-1) @ (x=-3)(x+1)=x*-4
@) x-5)(x+5)=25-2 @ 3(:2+1) = 3x(x+1)
® x? = (x-4)?
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®(x=5)(x+5) = 25— x*
2x2 -50=0
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@ x2-2x=0

(@)(x—i—2)2 =0

@ (x-2)2=0

0

® (x-2)(x-5)

® (x-1)%=4

‘ (-2+2°=0
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(x=2)(x+4)=0
X2 4+2x-8=0

T a=2 b=-8
“a+b=-6
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3x2+5x-2=0
x—-1=0F=x+2=0
Bx-1)(x+2)=0
“a+b+c+d=3-14+14+2=5
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@x—3=0§_%2x+5:0 @ x+3=0EE2x-5=0
@ x-3=0EE=2x-5=0 @ x+5=0FE=2x+3=0

® x+5=0FE=2x-3=0
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2x2-x-15=0

(2x+5)(x-3)=0

2x+5=0E=x-3=0
5

La=—g fom 5=




x% 4+ 2x - 63 =0 9 & L3l

v V. v Vv
02
i o ol
=
I
|
Nel

0
i
=
Il
-3

X2 42x-63=0
(x+9)(x-7)=0
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D x2+10x=-24 @ x2-5x-14=0
@2x2—8x+8:0 @ x2+15=-8x

® 3x2+18x-48 =0
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®@2x2-8x+8=0
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2(x-2)2=0
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O 2x+1)(x+2)=0 @ (2x-1)(x+2)=0
1
~(2x-1)(x=2) =0 @ —x(x-2)=0

®
(@)2(2x+ 1)(x-2)=0
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DO x2-2x-35=0
@x2—12x—|—35:0

® 2x2-4x-30=0

@ x> 4+2x-35=0

@ x> +12x+35=0
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X =-8x+15 =0
(x=5)(x-3)=0
La=5b=3,a+2=7,b+2=5
(x=T)(x=5) =0
x2—12x4+35 =0




